SM3H Unit 3 test review
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VA:x =5 HA:y=2
VAix=2,x=-2;HA:y=0

VAix=-3,x=1HA:y=1
nt: (—4,0), (2,0); y-int: (o, g)
main: (—o0,—3) U (—3,1) U (1, o)
les: none
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16. VA:x=-5HA:y=0

x-int: none; y-int: (0, %)
Domain: (—oo, —=5) U (—=5,1) U (1, )
Holes: (1,1)
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17. VA:x=-2;0A:y=x+3
x-int: (—6,0), (1,0); y-int: (0,—3)
Domain: (—oo, —2) U (—2, )

Holes: none
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18. VA:x=1,HA:y=1
x-int: (0, 0); y-int: (0,0)
Domain: (—o0,—3) U (—3,1) U (1, )

Holes: (—3, %)

19.

Domain:

(00, —3) U (—3,)
Range:

(—0,2) U (2, )
x-intercept(s): (0, 0)

y-intercept: (0,0)

Increasing:
(00, —3) U (=3,)
Decreasing: none

Constant: none

Vertical Asymptote(s):

x=-3

Positive:

(=00, —=3) U (0,0)
Negative:

(=3,0)

Maximums / minimums: none
Symmetry: none

End Behavior/Limits:

lim f(x)=2 lim f(x)=2

lim f(x)=00 lim f(x)=—0
x—>-3" x—>-3"
Horizontal Asymptote:
y=2
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3x+2 x—2
1 3
21, —Z 2
T x+1 0 x-1
22. 2 2
x—3 x—2
23. x = —
24. x = —4,x = 3isextraneous, x * 3
25. x=7,5 x+0
26. x = —g,x = 2 is extraneous, x # —5, 2
27. no solution x # 0, —2 both are extraneous
answers
28. x=3+V2 x=#1
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(—o00,—3) U (3,0)
(-9,—-4)u[-1,1]
(=9,0)
(—o0,—2]U (1,3]
(—o0,—8] U [5,)
(-1,1)

[—4,0)
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